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University Deprtment of Commerce

B.R.A. Bihar University, Muzaffarpur

MODEL QUESTION BANK  (SET-II)

B.Com (Honours) Part-I

Group (A ) :

Paper- I, Financial Accounting

Multiple Choice Questions (cgq foDyih; iz'u)

oLrqfu"B iz'u (Objective Type Question)

 oLrqfu"B iz'u     (Objective Types Questions):

1- ys[kkadu ds izR;{k ykHk gSa ftuesa 'kkfey ugha gS%
(a) foÙkh; fooj.kksa dk fuekZ.k (b) rqyukRed ykHk
(c) ykHk&gkfu dk fu/kZj.k (d) lEc¼ lewgksa dks lwpuk nsuk
The direct advantages of accounting do not include:

(a) Preparation  of financial statements (b) competitive advantage

(c) Ascertainment of profit or loss (d) Information to interested groups

2- ys[kkadu lwpukvksa ds mi;ksxdÙkkZvksa esa 'kkfey gS%
(a) va'k/kjhx.k (b) ljdkj
(c) ysunkj (d) mi;qZDr lHkh
Financial informations users include:

(a) Shareholders (b) Government

(c) Vendors (d) All of the above

3- ys[kkadu lwpukvksa dk mi;ksxdÙkkZ dkSu ugha gS\
(a) fuos'kd (b) Í.krkrk
(c) Lokeh (d) vo;Ld
Who is not user of accounting informations?

(a) Investors (b) Lenders

(c) Owners (d) Minors

4- iqLrikyu vkSj ys[kkadu dh izFke iqLrd dc izdkf'kr gqbZ Fkh\
(a) 1494 (b) 1594
(c) 1496 (d) 1596
When the first book on Book-keeping and Accounting was published?

(a) 1494 (b) 1594
(c) 1496 (d) 1596

5- iqLrikyu dk vFkZ gS%
(a) iqLrdksa dks j[kuk (b) iqLrdksa dks dk;kZy; esa j[kuk
(c) iqLrdksa esa O;kikfjd ysu&nsuksa dk fglkc j[kuk (d) mijksDr esa dkszbZ ugha
Book-Keeping means:

(a) To keep the books (b) To keep the books in office

(c) To maintain business transactions in books (d) None of above

6- fuEufyf[kr esa ls dkSu ys[kkadu dk ,d mi{ks=k ugha gS\
(a) iqLrikyu (b) ykxr ys[kkadu
(c) izcU/ ys[kkadu (d) foÙkh; ys[kkadu
Which of the following is not a sub field of accountancy?

(a) Book-Keeping (b) Cost Accouting

(c) Managment Accounting (d) Financial Accounting
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7- fuEufyf[kr esa ls fdls O;kikj dh Hkk"kk dgk tk ldrk gS\
(a) vFkZ'kkL=k (b) lkaf[;dh
(c) ys[kkadu (d) vaxzsth
Which of the following may be called the language of the business?

(a) Economics (b) Statistics

(c) Accoutancy (d) English

8- ys[kkadu esa ys[ks fd;s tkrs gSa%
(a) oLrq ek=kd esa (b) eqnzk ek=kd esa
(c) mRiknu ek=kd esa (d) mijksDr esa ls dksbZ ugha
Accounting record transactions in terms of:

(a) Commodity units (b) Monetary units

(c) Production units (d) None of these

9- ,d pkVZMZ ys[kkiky tks 'kqYd ds cnys esa ys[kkadu dh lsok,a iznku djrk gS] dgykrk gS%
(a) futh ys[kkiky (b) lkoZtfud ys[kkiky
(c) ljdkjh ys[kkiky (d) vkarfjd ys[kkiky
A chartered accquntant who renders accounting services on a fee basis, is called:

(a) Private accountant (b) Public accountant

(c) Government accountant (d) Internal accountant

10- fdlh le; ds nkSjku O;; ij vk; ds vkf/D; dks dgrs gSa%
(a) ykHk (b) gkfu (c) iwath (d) dksbZ ugha
The excess of income over expenditure during a period of time is called:

(a) Profit (b) Loss (c) Capital (d) None

11- fdlh le; ds nkSjku vk; ij O;; ds vkf/D; dks dgrs gSa%
(a) ykHk (b) gkfu (c) iwath (d) dksbZ ugha
The excess of expenditure over income during a period of time is called:

(a) Profit (b) Loss (c) Capital (d) None

12- lEifÙk;ka ftUgsa vYi vof/ esa udn esa ifjofrZr fd;k tk ldrk gS dgykrh gS%
(a) LFkk;h lEifÙk (b) ewrZoku lEifÙk (c) rjy lEifÙk (d) buesa dksbZ ugha
Assets, which can be convented into cash within a short span of time is called:

(a) Fixed assets (b) Tangible assets (c) Liquid assets (d) None of these

13- dk;kZy;] Hkou dk HkkM+k jQú 5]000 fn;kA ;g gS%
(a) ?kVuk (b) ysu&nsu (c) nksuksa (d) dksbZ ugha
Rs. 5,000 paid as rent of office premises. It is an/a:

(a) Event (b) Transaction (c) Both (d) None

14- foÙkh; o"kZ ds vUr esa jQú2]00]000 ewY; dk eky cspus ds ckn jQú 10]000 dk vfUre jgfr;k Fkk og gS%
(a) ,d ?kVuk (b) ,d ysus&nsu (c) nksuksa (d) dksbZ ugha
At the end of the financial year after sale of goods worth Rs. 2,00,000 there was a closing stock of Rs.10,000

. This is:

(a) An event (b) A transaction (c) Both (d) None

15- Lokehxr dks'k ds vykok laLFkk ds nkf;Roksa dks dgk tkrk gS%
(a) lEifÙk (b) nkf;Ro (c) iaawth (d) buesa ls dksbZ ugha
The obligation of an enterprise other than owner's fund are known as:

(a) Assets (b) Liabilities (c) Capital (d) None of these

16- LFkk;h lEifÙk esa lfEefyr gksrs gSa%
(a) vfUre jgfr;k (b) vfxze Hkqxrku (c) iQuhZpj (d) nsunkj
Fixed assets include:

(a) Closing stock (b) Payment in advance (c) Furniture (d) Debtors
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17- fuEufyf[kr esa ls dkSu LFkk;h lEifÙk ugha gS%
(a) Hkwfe (b) [;kfr (c) la;U=k (d) cSad esa jksdM+
Which of the following is not a fixed asset?

(a) Land (b) Goodwill (c) Plant (d) Cash at Bank

18- fuEufyfr[k esa ls dkSu dkYifud lEifÙk gS\
(a) Hkwfe (b) Hkou (c) [;kfr (d) izkjafHkd O;;
Which of the following is a fictions asset?

(a) Land (b) Building (c) Goodwill (d) Preliminary experiences

19- ,d O;fDr ftls iQeZ dks /u nsuk gS] dgykrk gS%
(a) ysunkj (b) nsunkj (c) vkiwfrZdÙkkZ (d) Øsrk
A person who pays to the firm money is called:

(a) Creditor (b) Debtor (c) Supplier (d) Purchase

20- ,d O;fDr dks ftlsa iQeZ dks /u nsuk gS] dgykrk gS%
(a) ysunkj (b) nsunkj (c) vkiwfrZdÙkkZ (d) foØsrk
A Person to whom moneyh is owed by a firm is called:

(a) Creditor (b) Debtor (c) Supplier (d) Seller

21- fuEufyf[kr esa ls dkSu pkyw nkf;ro gS%
(a) 12%  Í.ki=k (b) va'k iwath (c) vkf/D; (d) ysunkj
Which of the following is a Current Liability?

(a) 12% Debentures (b) Share Capital (c) Surplus (d) Creditors

22. ykxr ewY; ij LFkk;h lEifÙk;ksa dk vfHkys[ku ikyu djus dk fo'okl fnykrk gS%
(a) :f<+okfnrk (b) ykxr vo/kj.kh
(c) pkyw O;kikj vo/kj.kk (d) miktZu vo/kj.kk
Recording of fixed assets at cost ensures adherence of:

(a) Conservation (b) Cost Concept

(c) Going Concern Concept (d) Accrual Concept

23. vk/kjHkwr ys[kkadu vo/kj.kk gS%
(a) pkyw O;kikj] :f<+okfnrk] miktZu (b) pkyw O;kikj] feyku] fujUrjrk
(c) pkyw cktkj] fujUrjrk miktZu (d) pkyw O;kikj] i`Fkd bdkbZ] le;&vof/
Fundamental Accounting Assumptions are:

(a) Going Concern, Conservgation, Accrual (b) Going Concern, Matching,  Consistency

(c) Going Concern, Consistency, Accrual (d) Going Concern, Entity, Periodicity

24. ;g fopkj fd Lokeh ls O;kikj i`Fkd gS& vo/kj.kk ij vk/kfjr gS%
(a) f}i{kh; (b) i`Fkd bdkbZ
(c) olwyh (d) lkjrk
The idea that the  business is separate from owner is based on the concept:

(a) Dual aspect (b) Entity

(c) Realisation (d) Materiality

25. dEiuh ds Lokeh us vius O;fDrxr esfMdy O;; dks dEiuh ds vk; fooj.k esa lfEefyr dj fy;k gSA fl¼kUr ds mYya?ku ds
fpfÉr djsa%
(a) ykxr fl¼kUr (b) :f<+okfnrk
(c) izdVhdj.k (d)  bdkbZ vo/kj.kk
The owner of the company included his personal medical expenses in the company's income statement. Indicatre

(a) Cost principle (b) Conservatism

(c) Disclosure (d) Entity Concept.

26. ^^jgfr;k ds lanHkZ esa izkfIr;ksa dks ykHkka'k ds Hkqxrku esa iz;ksx ugha djuk pkfg,A** fuEufyf[kr esa ls dkSu ys[kkadu fl¼kUr blesa
ykxw gksrk gS\
(a) fujUrjrk (b) ykxr
(c) lkjrk (d)  olwyh
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"Holding gains in relation to stocks should not be used for payment of dividend." Wich one of the following  accounting

principle is involved in this?

(a) Consistency (b) Cost

(c) Materiality (d) Realisation

27. ys[kksa dk f[kM+dh izn'kZu dk vFkZ gS%
(a) [kwclwjr <ax ls [kkrksa dk izLrqrhdj.k (b) vk;dj ls cpus ds fy, vf/d gkfu fn[kkuk
(c) fuos'k dks vkdf"kZr djus gsrq vf/d ykHk fn[kkuk (d)  mi;qZDr lHkh
Window dressing of Accounts means:

(a) Presenting accounts in beautiful manner (b) Showing more losses to avoid Income Tax

(c) Showing more profits to attract investment (d) All of the above

28. Lokeh ds }kjk iznr iwath dks nkf;Ro ds :i esa vfHkys[ku fuEu fl¼kUr ds ikyu djus dk fo'okl fnykrk gS%
(a) feyku (b) pkyw O;kikj
(c) f}ys[k izfof"V (d)  O;kikj dh i`Fkd vo/kj.kk
Recording of capital contributed by the owner as liability  ensures adherence of principle of:

(a) Matching (b) Going Concern

(c) Double entry (d) Separate entity of business

29. foÙkh; fooj.kksa esa iSls dks NksM+ nsuk vkSj iw.kk±d esas fn[kkuk vk/kfjr gS%
(a) :f<+okfnrk vo/kj.kk (b) fujUrjrk vo/kj.kk
(c) lkjrk vo/kj.k (d) olwyh vo/kj.kk
Omission of paise and showing the round figures in financial statements is based on :

(a) Conservation Concept (b) consistency Concept

(c) Materiality Concept (de) Realization Concept

30. vfoÙkh; ysu&nsuksa dk ys[kkadu esa vfHkys[ku ds dkj.k ugha fd;k tkrk gS%
(a) miktZu vo/kj.kk (b) ykxr vo/kj.kk
(c) fujUrjrk vo/kj.kk (d) eqnzk ekiu vo/kj.kk
Accounting does not record non-financial transactions because of:

(a) Accrual Concept ` (b) Cost Concept

(c) Continuity Concept (d) Money Measurement Concept

31. fuEufyf[kr esa ls dkSu ewyHkwr ys[kkadu vo/kj.kk ugha gS\
(a) pkyw O;kikj (b) fujUrjrk
(c) :f+okfnrk (d) miktZu
Which of these is not a fundamental accounting assumption?

(a) Going Concern (b) Consistency

(c) Conservation (d) Accrual

32. fuEu vo/kj.kk ds vuqlkj LFkk;h lEifÙk;ksa vkSj pkyw lEifÙk;ksa dks oxhZÑr fd;k tkrk gS%
(a) i`Fkd bdkbZ (b) pkyw O;kikj
(c) fujUrjrk (d) le; vof/
Fixed assets and current assets are categorized as per concept of:

(a) Separate entity (b) Going concern

(c) Consistency (d) Time Period

33. NwV ij izko/ku dk l`tu fuEu vo/kj.kk ds vuqlkj fd;k tkrk gS%
(a) :f<+okfnrk (b) feyku
(c) nksuksa (a) vkSj (b) (d) lkjrk
Provision for discount is made due to the concept of:

(a) Conservatism (b) Matching

(c) Both (a) and (b) (d) Materiality

34. :f<+okfnrk dk D;k mís'; gS\
(a) lHkh vk;ksa vkSj gkfu;ksa dks ysuk (b) laHkkfor gkfu;ka ysfdu ykHk ugha
(c) lHkh gkfu;ka (d) mijksDr dksbZ ugh
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What is the objective of conservatism?

(a) Take all incomes and losses (b) Anticipate losses but not profits

(c) Take all losses (d) None of the above

35. fdl vo/kj.kk ds vuqlkj lak;ksfxd nkf;Ro dks vkfFkZd fpV~Bk ds iQqVuksV esa fn[kk;k tkrk gS%
(a) lkjrk (b) izdVhdj.k
(c) olwyh (d) f}i{kh;
Contingent liability is shown in footnote of Balance Sheet as per which concept?

(a) Materiality (b) Disclosure

(c) Realization (d) Dual Aspect

36. fdl vo/kj.kk ds vuqlkj laLFkk ds Lokeh dks vkgj.k ij C;kt fn;k tkrk gS\
(a) miktZu vo/kj.kk (b) :f<+okfnrk vo/kj.kk
(c) bdkbZ vo/kj.kk (d) f}i{kh; vo/kj.kk
According to which concept the owner of an enterprise pay the interest on drawings?

(a) Accrual concept (b) Conservative concept

(c) Entity concept (d) Dual Aspect concept

37. vkdfLed nkf;Ro dks 'kh"kZd ds vUrxZr fn[kk;k tkrk gS%
(a) LFkk;h nkf;Ro (b) pkyw nkf;Ro (c) fVII.kh ds :i esa (d) buesa dksbZ ugha
Contingent Liabilities are exhibited under the heading:

(a) Fixed (b) Current Liabilities (c) As a footnote (d) None the these

38. foÙkh; fooj.k ys[kkadu izfØ;k ds&&&&gSA
(a) izFke mRikn (b) f}rh; mRikn (c) vafre mRikn (d) buesa dksbZ ugha
Financial Statements are the-------of accounting process.

(a) First product (b) Second product (c) End product (d) None of these

39. foÙkh; fooj.k gksrs gSa%
(a) izR;kf'kr rF; (b) vfHkysf[kr rF; (c) rF;ksa ds vuqeku (d) buesa dksbZ ugha
Financial Statements are

(a) Anticipated facts (b) Recorded facts (c) Estimated facts (d) None of the these

40. va'k/kfj;ksa ds fy, ykHkka'k gS%
(a) dj ns; jkf'k (b) dj&eqfDr jkf'k (c) O;kt (d) buesa dksbZ ugha
Dividends are in the hands of shareholders:

(a) T ax payable amount  (b) Tax-free amount (c) Interest (d) Non of the above

41. yEcor fo'ys"k.k tkuk tkrk gS%
(a) xfr'khy foys"k.k (b) fLFkj fo'ys"k.k (c) vkUrfjd fo'ys"k.k (d) buesa dksbZ ugha
Vertical analysis is also known as:

(a) Dynamic analysis (b) Static analysis (c) Internal analyis (d) None of these

42. ,d va'k/kjh }kjk foÙkh; fooj.kksa dk fo'ys"k.k mnkgj.k gS%
(a) vkUrfjd fo'ys"k.k dk (b) oká fo'ys"k.k dk (c) yEcor~ fo'ys"k.k dk (d) {kSfrt fo'ys"k.k dk
The analysis of financial statements by a Shareholder is an example of:

(a) Internal analysis  (b) External analysis (c) Vertical analysis (d) Horizontal analysis

43. izo`fÙk vuqikr vkSj izo`fÙk izfr'kr iz;ksx fd, tkrs gSa%
(a) izkoSfxd fo'ys"k.k esa (b) LFkSfrd fo'ys"k.k esa (c) {kSfrt fo'ys"k.k esa (d) yEcor fo'ys"kk esa
Trend ratios and trend percentage are used in:

(a) Dynamic analysis (b) Static analysis (c) Horizontal analysis (d) Vertical analysis

44. foÙkh; fooj.kksa dh rqyuk O;olk; dh--------dh izo`fÙk dks bafxr djrh gSA
(a) ykHknk;drk (b) fu"iknu {kerk (c) foÙkh; fLFkfr (d) mijksDr lHkh
Compasison of financial statements indicates the trend of the........of the business.

(a) Profitability (b) Performance (c) Financial position (d) All the above
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45. lkekU; vkdkj ds fooj.k fo'ys"k.k dks dgrs gSa%
(a) fØ;k'khy fo'ys"k.k (b) {kSfrt fo'ys"k.k (c) yEcor~ fo'ys"k.k (d) oká fo'ys"k.k
Common-size statements are also known as:

(a) Dynamic analysis (b) horizontal analysis (c) Vertical analyhsis (d) External analysis

46. foÙkh; fooj.kksa ds foospu esa 'kkfey gksrk gS%
(a) vkykspuk ,oa fo'ys"k.k (b) rqyuk vkSj izo`fÙk vè;;u (c) fu"d"kZ fudkyuk (d) mijksDr lHkh
Interpretation of financial statements include:

(a) Criticism and Analysis (b) Comparison and Trend Study (c) Drawing conclusions   (d) all the above

47. izs"k.k [kkrk  gS%
(a) okLrfod [kkrk (b) O;fDrxr [kkrk (c) uke ek=k [kkrk (d) buesa ls dksbZ ugha
Consignment Account is a-

(a) Real Account (b) personal Account (c) Nominal Account (d) None of them

48. izsf"krh [kkrk gS
(a) okLrfod [kkrk (b) O;fDrxr [kkrk (c) uke ek=k [kkrk (d) buesa ls dksbZ ugha
Consignee's Account is a-

(a) Real Account (b) personal Account (c) Nominal Account (d) None of them

49. izs"k.k esa eky dk Lokeh gksrk gS%
(a) mRiknd (b) foØsrk (c) izs"kd (d) izsf"krha
In consignment owner of goods is called-

(a) Producer (b) Seller (c) Consignor (d) consignee

50. izs"k.k esa eky Hkstk tkrk gS%
(a) Fkks foØsrk (b) [kqnjk foØsrk (c) izsf"krh dks (d) lHkh dks
In consignment gooeds are sent-

(a) to wholesaler (b) to retailer (c) to consignee (d) to all of them

51. foØ; ys[kk gS%
(a) [kkrk (b) fooj.k (c) [kkrk ogh (d) dksbZ ugha
Account fsale is a -

(a) Account (b) Statement (c) Ledger (d) None of them

52. lkekU; fjlko] ok"ihdj.k lwpuk bR;kfn ls gqbZ gkfu dks dgrs gSa&
(a) lkekU; gkfu (b) vlkekU; gkfu (c) lk/kj.k gkfu (d) buesa ls dksbZ ugha
Normal leakage, evaporation, drying etc. are called.

(a) Normal Loss (b) Abnormal Loss (c) Simple Loss (d) None of them

53. pksjh] vkx] nq?kZVuk bR;kfn ls gqbZ gkfu dgykrh gS&
(a) lkekU; gkfu (b) vlkekU; gkfu (c) lk/kj.k gkfu (d) buesa ls dksbZ ugha
A  loss arising due to theft, fire, , accident etc. is called-

(a) Normal Loss (b) Abnormal Loss (c) Simple Loss (d) None of them

54. ;fn ifj'kks/ deh'ku dk Hkqxrku fd;k tkrk gS rks vizkI; Í.k dh jkf'k ogu dh tkrh gS&
(a) nsunkj }kjk (b) Øsrk }kjk (c) izsf"krh }kjk (d) izs"kd }kjk
If del-credere commission is paid then amount of bad debts is borne by:

(a) By debtor (b) By purchaser (c) By consignee (d) By consignor

55. izs"kd rFkk izf"krh ds chp lEcU/ gksrk gS&
(a) Øsrk vkSj foØsrk dk (b) nsunkj rFkk ysunkj dk (c) iz/ku rFkk ,tsUV dk (d) buesa ls dksbZ ugha
The relationship between the consignor and consignee is that of:

(a) Buyer and Seller (b) Debtor and Creditor (c) Principal and Agent (d) None of them

56. chek nkok ds ckn cph gqbZ vlkekU; gkfu dks gLrkUrfjr fd;k tkrk gS&
(a) O;kikj [kkrk esa (b) ykHk gkfu [kkrk esa (c) vkfFkZd fpV~Bk esa (d) buesa ls dksbZ ugha
Abnormal Loss after adjusting insurance claim is transferred to:

(a) Trading Account (b) Profit & Loss Account (c) Balance Sheet (d) None of them
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57. la;qDr lkgl O;kikj esa ykHk ;k gkfu Kkr dh tkrh gS%
(a) okf"kZd (b) v¼Z&okf"kZd (c) dk;Z lekIr gksus ij (d) buesa ls dksbZ ugha
Profit or loss is ascertained in Joint Venture:

(a) Yearly (b) Half-yearly (c) On completion of deal (d) None of them

58. la;qDr lkgl O;kikj dk iath;u gS%
(a) vfuok;Z (b) vko';d (c) dksbZ vko';d ugha (d) buesa ls dksbZ ugha
The registration of Joint Venture is:

(a) Compulsory (b) Necessary (c) No need (d) None of them

59. la;qDr lkglh O;kikj djrs gSa%
(a) ykHk ds fy, (b) osru ds fy, (c) deh'ku ds fy, (d) buesa ls dksbZ ugha
Co-ventures do business for:

(a) Profit (b) Salary (c) Commission (d) None of them

60. la;qDr lkgl esa lg&lkgfl;ksa dh vf/dre la[;k gksrh gS%
(a) nks (b) lkr (c) nl (d) vlhfer
The maximum number of co-ventures in a Joint Venture is:

(a) Two (b) Seven (c) Ten (d) Unlimited

61. iQeZ ds fo?kVu ds le; lafnX/ ,oa vizkI; Í.kksa dk izko/ku gLrkUrfjr fd;k tkrk gS%
(a) olwyh [kkrk esa (b) nsunkj [kkrk esa (c) vizkI; [kkrk esa (d) buesa ls dksbZ ugha
At the time of dissolution of firm, provision for bad and doubtful debts is transferred to:

(a) Realisation Account (b) Debtors Account (c) Bad debts Account (d) None of them

62. iQeZ ds fo?kVu ds le; vfyf[kr lEifÙk ds foØ; ls izkIr jkf'k dks ØsfMV dgrs gSa%
(a) jksdM+ [kkrk esa (b) olwyh [kkrk esa (c) lk>snkjksa ds iawth [kkrk esa (d) buesa ls dksbZ ugha
At the time of dissolution of firm, an amount realised from an unrecorded asset is credited to:

(a) Cash Account (b) Realisation Account (c) Partner's Capital Accounts (d) None of them

63. iQeZ ds fo?kVu dh n'kk esa [;kfr dks gLrkUrfjr fd;k tkrk gS%
(a) lk>snkjksa ds iwath esa (b) jksdM+ [kkrk esa (c) olwyh [kkrk esa (d) buesa ls dksbZ ugha
In case of disolution of firm, Goodwill Account is transerred to:

(a) Partners' Capital Accounts (b) Cash Account (c) Realisation Account (d) None of them

64. olwyh [kkrk ds ykHk@gkfu dk caVokjk lk>snkjksa ds eè; gksrk gS%
(a) ykHk foHkktu vuqikr esa (b) iwath vuqikr esa (c) cjkcj&cjkcj (d) buesa ls dksbZ ugha
Profit/Loss on Realisation Account shared by the partners:

(a) Profit shareing ratio (b) Capital ratio (c) Equaaly (d) None of them

65. lEifÙk;ksa ds foØ; ls izkIr jkf'k ls loZizFke fdldk Hkqxrku gksxk\
(a) O;kikfjd nkf;Ro (b) iawth (c) lk>snkj dk Í.k (d) buesa ls dksbZ ugha
Which of the following will be paid first out of sale p;roceeds of assets?

(a) Trade Liabilities (b) Capital (c) Partner's Loan A/c (d) None of them

66. lk>snkj dk fnokfy;k gksuk fdl izdkj ds lekiu dk vax gS\
(a) vfuok;Z lekiu (b) la;ksx }kjk lekiu (c) U;k;ky; }kjk lekiu (d) buesa ls dksbZ ugha
Insolvency of a partner leads to which type of dissolution?

(a) Compulsory dissolution (b) Dissolution by incidence (c) Dissoolution by court (d) None of them

67. iQeZ ds lekiu ij gksus okys O;; dks dgrs gSa%
(a) olwyh O;; (b) dkuwuh O;; (c) gkfuxr O;; (d) buesa ls dksbZ ugha
Expenses on dissolution of a firm is called:

(a) Realisation expenses (b) Legal expenses (c) Loss expenses (d) None of them

68. lk>snkjksa }kjk iQeZ dk ,sfPNd lekiu fd;k tk ldrk gS%
(a) cgqer ds vk/kj ij (b) 3@4 lnL;ksa ds fu.kZ; ij(c) 3@5 lnL;ksa ds fu.kZ; ij (d) buesa ls dksbZ ugha
A firm can be voluntarily dissolved by the partners:

(a) On majority basis (b) On 3/4 members decision(c) On 3/5 members decision (d) None of them
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69. va'kksa dk NwV ij fuxZeu gS%
(a) iwathxr izkfIr (b) iwathxr gkfu (c) vlkekU; ykHk (d) buesa ls dksbZ ugha
Discount on issue of shares is a:

(a) Capital gains (b) Capital losses (c) Abnormal profit (d) None of them

70. tc va'kksa dh tCrh dh tkrh gtS rks va'k iwath [kkrk uke fd;k tkrk gS%
(a) ;kpuk dh cdk;k jde ls (b) ;kfpr jde ls (c) nÙkj jde ls (d) buesa ls dksbZ ugha
When shares are forfeited, the share capital account is debited by:

(a) Calls in arrears (b) Called-up amount (c) Paid-up amount (d) None of them

71. vnÙk ;kpuk,a%
(a) iwath esa tksM+h tkrh gS (b) iwath esa ls ?kVkbZ tkrh gS (c) ykHk esa ls ?kVkbZ tkrh gS (d) buesa ls dksbZ ugha
Calls in arrears are:

(a) Added in capital (b) Deducted from capital (c) Dedeucted from profit (d) None of them

72. tCr fd, x, va'kksa ds iqu% fuxZeu ij nh xbZ NwV dks MsfcV fd;k tkrk gS%
(a) va'k NwV [kkrk (b) va'k vigj.k [kkrk (c) ykHk&gkfu [kkrk (d) buesa ls dksbZ ugha
Discount allowed on raissue of forfeited share is debited to:

(a) Share Discount A/c (b) Share Forfeiture A/c (c) Profit and loss A/c (d) None of them

73. tCr va'k [kkrk dk 'ks"k muds iqu% tkjh gksus ds ckn gLrkUrfjr dj fn, tkrs gS%
(a) lqjf{kr dksi esa (b) lafpr iwath esa (c) lkekU; lafpfr esa (d) buesa ls dksbZ ugha
Balance of Forfeited Shares Account after reissued is transferred to:

(a) Capital gainsReserve Fund (b) Capital Reserve (c) General reserve (d) None of them

74. iV~Vk/kjh dh iqLrdksa esas y?kqdk;Z jkf'k-------------------ckdh iznf'kZr djrk gSA
(a) uke (b) tek (c) okLrfod (d) buesa ls dksbZ ugha
(Shortworking account shows..................balance in the books of lessee)

(a) Debit (b) Credit (c) Real (d) None of these

75. Øsrk lEifÙk ds--------------------ewY; ij ßkl dkVrk gSA
(a) vuqekfur ewY; (b) jksdM+ (c) fdjk;k Ø; (d) buesa ls dksbZ ugha
(The buyer charges depreciation on ..............Price)

(i) Cost (ii) Cash (iii) Market demand (iv) None of these

76. fdjk;k Ø; ewY; uxn ewY; ls--------------------gksrk gSA
(a) de (b) vf/d (c) mi;qZDr nksuksa (d) buesa ls dksbZ ugha
 (Hire purchase price is ...................than the cash price)

(a) Less (b) More (c) Both of the above (d) None of these

77. fdjk;k Ø; i¼fr ds vUrxZr O;kt dh jkf'k fdjk;k Ø; ewY; rFkk---------ewY; dk vUrj gksrh gSA
(a) U;wure ykxr (b) uxn (c) fLFkj (d) buesa ls dksbZ ugha
 (Under Hire purchase system the amount of interest is the difference of hire purchase price and .....Price)

(a) Menimum cost (b) Cash (c)Fixed (d) None of these

78. ßkl dk ys[kk dsoy fdjk;k---------------dh iqLrdksa esa gksrk gSA
(a) foØsrk (b) Øsrk (c) mi;qZDr nksuksa (d) buesa ls dksbZ ugha
 (The entry of depreciation is made only in the books of hire........)

(a) Saller (b) Purchaser (c) Both of the above (d) None of these

79. fdjk;k Ø; i¼fr ds vUrxZr C;kt dh x.kuk lEifÙk ds --------ewY; ij dh tkrh gSA
(a) fdjk;k Ø; (b) uxn (c) mijksDr nksuksa (d) buesa ls dksbZ ugha
 (Under hire purchase system interest is calculated on ..............price)

(a) Hire purchase (b) Cash (c) Both of the above (d) None of these

80. tc uxn ewY; Kkr u gks rks C;kt dh x.kuk-------------------fd'r dh jkf'k ls 'kq: dh tkrh gSA
(a) izFke (b) vafre (c) mijksDr nksuksa (d) buesa ls dksbZ ugha
 (When cash price is not known then calculation of interest is started from..........instalment)

(a) First (b) Last (c) Both of the  above (d) None of these
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81. fdjk;k Ø; i¼fr ds vUrxZr fdjk;k Øsrk dks Bgjko lekIr djus dk vf/dkj----------------A
(a) ugha (b) gS (c) mijksDr nksuksa (d) buesa ls dksbZ ugha
 (Under hire purchase system cash price is equal to the total of cost price and...................)

(a) Has not (b) has (c) Both of the above (d) None of these

82. fdjk;k Øe i¼fr ds vUrxZr uxn ewY;] ykxr ewY; rFkk---------------ds ;ksx ds cjkcj gksrk gSA
(a) O;kt (b) ykHk (c) mijksDr nksuksa (d) buesa ls dksbZ ugha
 (Under hire purchase system cash price is equal to the total of cost price and...................)

(a) Interest (b) Profit (c) Both of the above (d) None of these

83. fdjk;k Ø; i¼fr ds vUrxZr fdjk;k Ø; ewY;  uxn ewY; rFkk---------------ds ;ksx ds cjkcj gksrk gSA
(a) ykHk (b) O;kt (c) gkfu (d) buesa ls dksbZ ugha
 (Under hire purchase system hire purchase price is equal to the total of Cash price and...................)

(a) Profit (b) Interest (c) Loss (d) None of these

84. fdjk;k Ø; i¼fr ds vUrxZr fdjk;k Ø; ewY; rFkk----------ewY; ds vUrj dks fdjk;k Ø; izHkkj dgk tkrk gSA
(a) O;kt (b) jksdM+ (c) mi;ZqDr nksuksa (d) buesa ls dksbZ ugha
 (Under hire purchase system the difference of hire purchase price and...........price is known as hire purchase charges)

(a) Interest (b) Cash (c) Both of the above (d) None of these

85. fd'r Hkqxrku i¼fr ds vuqlkj lEifÙk dk Ø;&foØ;------------------m/kj gksrk gSA
(a) uxn (b) m/kj (c) mi;qZDr nksuksa (d) buesa ls dksbZ ugha
 (Under instalment payment system, assets are purchased and sold on....................)

(a) Cash (b) Credit (c) Both (d) None of these

86. fd'r Hkqxrku i¼fr ds vUrxZr Øsrk dks Bgjko lekIr djus dk vf/dkj---------------------
(a) gSa (b) ugha gS (c) mi;qZDr nksuksa (d) buesa ls dksbZ ugha
 (Under instalment system buyer..............right to terminate the agreement)

(a) has (b) has not (c) Both of the above (d) None of these

87. fd'r Hkqxrku i¼fr ds vUrxZr Øsrk }kjk Hkqxrku esa =kqfV djus ij foØsrk lEifÙk tCr---------------ldrk gSA
(a) dj (b) ugha dj (c) mi;qZDr nksuksa (d) buesa ls dksbZ ugha
 (Under instalment system in case of default in payment by buyer, the seller..............seize the asset.)

(a) can (b) can not (c) Both of the above (d) None of these

88. lEifÙk ij ßkl dk izko/ku----------}kjk fd;k tkrk gSA
(a) foØsrk (b) Øsrk (c) mi;qZDr nksuksa (d) buesa ls dksbZ ugha
 (The provisions of depreciation on asset is made by....................)

(a) Seller (b) Buyer (c) Both of the above (d) None of these

89. fd'r Hkqxrku i¼fr ds vUrxZr Øsrk eky dks fdlh rhljs i{k dks-----------------------A
(a) csp ldrk (b) ugha csp ldrk gS (c) mi;qZDr nksuksa (d) buesa ls dksbZ ugha
 (Under instalment system buyer................the goods to third party)

(a) can sale (b) can't sale (c) Both of the above (d) None of these

90. fd'r Hkqxrku i¼fr ds vUrxZr Øsrk eky dks fdlh rhljs i{k dks HkkM+k esa------------------gSA
(a) csp ldrk (b) ugha ns ldrk gS (c) mi;qZDr nksuksa (d) buesa ls dksbZ ugha
 (Under instalment system, buyer ...............Hire the goods in the third party.

(a) Can sell (b) Can't (c) Both of the above (d) None of these

91. In Indian Accounting system reaction are recorded in which type of Account boo.

(a) In registers  (b) In cpaies (c) Red covered long Books    (d) None of these

Hkkjrh; cgh[kkrk iz.kkyh esa ys[kk iqLrdsa fdl izdkj dh gksrh gSa ftuesa lkSnksa dk ys[kk gksrk gS\
(a) jftLVjksa esa (b) dkWfi;ksa esa (c) yky diM+k p<+h pEch cfg;ksa esa (d) buesa ls dksbZ ugha

92. What is at the left side in Indian Accounting system.

(a) Credit side (b) Debit side (c) Both credit & debit side   (d) None of these

Hkkjrh; cgh[kkrk iz.kkyh esa ckbZ vksj dkSulk i{k gksrk gS\
(a) tek i{k (b) uke i{k (c) tek o uke i{k nksuksa (d) buesa ls dksbZ ugha
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93. In which language arthematic number is used in Indian Accounting system

(a) Hindi (b) English (c) Roman     (d) None of these

Hkkjrh; cgh[kkrk iz.kkyh esa vadxf.krh; vad fdl Hkk"kk esa iz;qDr gksrs gSa\
(a) fgUnh esa (b) vaxzsth (c) jkseu (d) buesa ls dksbZ ugha

94. What entry be pased for desired goods in Indian Accounting System.

(a) Credit copy book (b) Debit copy book (c) Waste book   (d) Cash book

ilUnxh ds Hksts x;s eky dk ys[k fd;k tkrk gSA
(a) tek udy ogh esa (b) uke udy ogh esa (c) tkdM+ ogh esa (d) buesa ls dksbZ ugha

95. In which principles India Accounting system is based on.

(a) Double entry system (b) single entry system (c) Cash System  (d) All of them

Hkkjrh; cgh[kkrk iz.kkyh fdl iz.kkyh ds fl¼kUrksa ij vk/kfjr gS%
(a) nksgjk ys[kk iz.kkyh (b) bdgjk ys[kk iz.kkyh (c) jksdM+ iz.kkyh (d) buesa ls dksbZ ugha

96. In which book, demand of customer is written.

(a) Credit copy book (b) CAsh book (c) Debit copy book  (d) Note book

xzkgdksa dh ekax dk ys[kk fdl ogh esa fd;k tkrk gS%
(a) tek udy ogh esa (b) jksdM+ ogh esa (c) uke udy ogh esa (d) buesa ls dksbZ ugha

97. How many columns are there is a note book,

(a) Eight (b) four (c) Six  (d) Twelve

Vhiuh ogh esa fdruh lysa gksrh gSa\
(a) vkB (b) pkj (c) Ng (d) ckgj

98. In which books of Account, Indward and out ward letters are Recorded.

(a) Noet book (b) Letter book (c) Challan book (d) Handi Book

vkus o tkus okys i=kksa dk ys[kk fdl ogh esa fd;k tkrk gSA
(a) fVIi.kh ogh (b) foYVh ogh esas (c) fpV~Bh ogh esa (d) g.Mh ogh ea

99. la;qDr lkgl [kkrk gS (Joint Venture Account is a )-

(a) O;fDrxr [kkrk (Personal Account) (b) okLrfod [kkrk (Real Account)

(c) ukeek=k [kkrk (Nominal Account) (d) buesaa ls dksbZ ugha (None of these)

100. la;qDr lkgl O;kikj lapkfyr gksrk gS (Joint Venture business is governed by )-

(a) Hkkjrh; lk>snkjh vf/fu;e }kjk (Indian partnership Act ) (b) Hkkjrh; vuqcU/ vf/fu;e }kjk (Indian Contract Act)    (

(c) ,tsUlh ds fu;ekuqlkj (Law of agency ) (d) buesaa ls dksbZ ugha (None of these)


